
Transmission active d’une impulsion dans un modèle de neurone 

• 	
  S$mula$on	
  d’un	
  neurone	
  FHN	
  modifié	
  

• 	
  Réponses	
  du	
  neurone	
  dépendent	
  de	
  :	
  

• 	
  de	
  la	
  dynamique	
  intrinsèque	
  du	
  neurone	
  (mode	
  oscillant	
  dans	
  l’espace	
  de	
  phase)	
  

• 	
  du	
  nombre	
  et	
  des	
  caractéris$ques	
  d'impulsions	
  entrantes	
  (amplitude,	
  largeur	
  et	
  fréquence).	
  

-­‐ 	
  Chaque	
  impulsion	
  entrante	
  provoque	
  un	
  saut	
  instantané	
  du	
  poten$el	
  de	
  membrane	
  (V)	
  de	
  Vp	
  contrôlé	
  par	
  
la	
  force	
  synap$que	
  D	
  (Vp>	
  0	
  pour	
  s$mulus	
  excitateur).	
  

-­‐ 	
  En	
  considérant	
  que	
  l'échelle	
  de	
  temps	
  de	
  la	
  s$mula$on	
  étant	
  plus	
  courte	
  que	
  celle	
  de	
  la	
  variable	
  W,	
  
l'ac$on	
  synap$que	
  peut	
  être	
  formulée	
  comme	
  suit:	
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Quelques résultats 


